General Knowledge

. The full form of NABARD is—

(A} NMational Bank of Agriculture
Regional Development

(B) National Bank of Agriculture
Rural Development

(C) Mational Bureau of Aero-
nautical Research and Develop-
ment

(D) MNone of the above

. PAN means—

(A} Permanent Account Number
{B) Personal Account Number
(C) Patent Allocation Number
(DY MNone of the above

. STD stands for—

(A) State Telephone Dialling

(B) Standard Telephone Dialling
(C) Subscriber Telephone Dial-
ling

(D) Subscriber Trunk Dialling

. Mational Game of India is—
(A) Hockey (B) Cricket
(C) Kabaddi (D) Kho-Kho

. The longest bone in Human Body
i5—

(A) Thigh (B) Hand
(C) Leg (D} Spine
. Photosynthesis occurs in—
(A) Flowers (B) Leaves
(C) Trunk (D} Roots
. Rice is—
(A) A seed

(B) A seeded fruit

(C) Multi seeded fruit

(D) None of the above

. Which plant has seeds but does
not have fruits 7

(A) Sugarcane (B) Groundnut
(C) Almond (D} Sycus

. In which plant the fruit is found
beneath the soil ?

(A) Carrot (B) Radish

(C) Potato (0} Groundnut
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Which type of plant is Pea Plant ?
(A) Vegetable

(B) Flower

(C) Shrub

(D) None of these

Yellow Cake’ is smuggled across
borders. This substance is—

(&) Unrefined Heroin
(B) Uranium Oxide
(C) Unrefined Cocaine
(D) Impure Gold

Alum cleans dirty water by the
process of —

(A) Absorption (B) Adsorption
(C) Coagulation {D) Dialysis

Pearls is basically made of —

(A) Calcium Oxalate

(B) Calcium Sulphate

(C) Calcium Carbonate

(D) Calcium Oxide

Who gave the slogan of ‘Jai
Hind' ?

(A) Subhash Chandra Bose

(B) Jawaharlal Mehru

(C) Motilal Nehru

(D) Mahatma Gandhi

Who said, “Give me blood, | will
give you freedom” 7

(A) Subhash Chandra Bose

(B) Arvind Ghosh

(C) Bhagat Singh

(D) Chandra Shekhar Azad

Who wrote our Mational Song ?
(A) Bankim Chandra Chatterjee
(B) Harivansh Rai Bachchan
(C) Igbal

(D) Mone of the above

The author of the book 'Godaan’
is—

(A} Premchand

(B) Bharatendu Harishchandra
(C) Harivansh Rai Bachchan
(D) Mahadevi Verma

18.

18.

20.

21

22.

23.

24,

25,

When did the Indian Constitution
come into force 7

(A) 1947 (B) 1950

(C) 1941 (D) 1965

When is ‘'Hindi Diwas' cele-
brated ?

(A) 2 October

(B) 14 September
(C) 22 June

(D) Mone of these

International Women’s Day is
celebrated on—

(A) 8 March (B) 14 Movember
(C) 1July (D) None of these
Which is the soul of
Constitution ?

(A) Preamble

(B) Directive Principle
{C) Fundamental Rights
(D) MNone of the above

Indian

India is—
(A) A Secular Nation

(B) Hindu Nation

(C) Hindu-Muslim Mation

(D) MNone of the above

Lok Sabha consists of ...... mem-
bers.
(A) 240
(C) 540

(B) 230
(D) 450
From which Indian State maxi-

mum number of representatives
are elected ?

(A) Madhya Pradesh
(B) Uttar Pradesh

(C) Rajasthan

(D) West Bengal

In order to be Prime Minister, a
person must be—

(A) 21 years of age

(B) 25 years of age

(C) 30 years of age

(D) 35 years of age
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Who was the first Home Minister
of Independent India ?

(A} Pt. Jawaharlal Nehru

{B) Sardar Vallabh Bhai Patel
(C) Gulzari Lal Nanda

(D) None of the above

Which institution has the power
to control the expenditure of
Central Government ?

{A) Parliament
(B) President

(C) Prime Minister
(D) Comptroller
General

and Auditor

Who has the right to interpret the
Constitution ?

(A) Parliament

(B) Judiciary

(C) Council of Ministers at the
Centre

(DY Mone of the above

Which language is used in the
Supreme Courtfor its legal wark ?
(A) Hindi

(B) English

(C) Hindi and English

(D) Languages included in 8th
schedule of the Constitution

Judiciary in India is—
(A) Independent

(B) Subordinate to the Parlia-
ment

(C) Subordinate judiciary
(D) Election Commission

How many High Courts are there
in India ?

(A) 15 (B) 16

(C) 17 (D) 21

The Prime Minister of India sub-
mits his/her rasignation to whom 7
{A) President

(B) Home Minister

(C) Chief Justice of Supreme
Court

(D) None of the above

Whom does the Governor repre-
sent in the States ?

(A} Central Government

(B) President

(C) Prime Minister

(DY MNone of the above

Who appoints the Lieutenant
Governor ?

(A) Central Government

{B) President

(C) Prime Minister

(D) None of the above
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Chief Ministers of State are—
(A} Appointed (B) Elected
(C) Nominated (D) Selected

Who appointsthe Chief Minister ?
(A) President

(B) Prime Minister

(C) Gowvemor

(D) Chairman of Vidhan Sabha

What type of electricity is mostly
produced in India 7

(A) Hydel-electricity

(B) Solar-electricity

(CG) Atomic-electricity

(D) Wind electricity

Which was the first country where
Industrial Revolution took place 7
(A) France (B) Germany
(C) England (D) India

Where is the maximum produc-
tion of wheat in India ?

(A) Punjab

(By Uttar Pradesh

(C) Haryana

(D) Madhya Pradesh

Whao was the founder of Green
Revolution in India ?

(A} Morman Borlaugh

(B) William God

(C) Verghese Kurrian

(D) M. S. Swaminathan
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Mathematics
61. Multiply 235 by 13 ......... :
(A) 4322 (B) 3078
(C) 3055 (D} 5566
62. Round 846 to the nearest hun-
dred ......... .
(A) 800 (B) 800
(C) 840 (D) 700
63. What number is the same as five
thousand twenty-two ?
(A) 5200 (B) 502
(C) 65202 (D) 5022
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. Which number is greater than

5678 but less than 5708 7
(A) 5677 (B) 5707
(C) 5800 (D) O

. What is the value of the symbol #

e O+ F =14,
(A) 8 By 7
(C) 10 (D) 12

. How many blocks of 100 and 10

can you make with 3250 ?

(A) 325and1 (B) 32 and 5
(C) 30and 50 (D) 3 and 55

Find the value of 5 kilometres in
metras—
(A) 500 m (B} 5500 m
(C) 1500 m (DY 5000 m
Which fraction is greater than %'?
1 3
(A) 3 (B) 3
3 2
(C) § (D) &
Find the value of 12 x 12 x 12,
(A) 1893 (BY 1728
(C) 2000 (D) 2005

70. The shaded fractionis......... ;
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{A) two-ninths
(B) nine-three
(C) four-eights
(D) three-ninths
Perfarm the following additions —
64837 + 4588 =7
(A) 69435 (B) 69500
{C) 69436 (D} 69434
Perfiorm the following subtrac-
tions—
92345 -01422 ="
(A) 920 (B) 924
{C) 921 (D) 923
What is the best name of a geo-

metric figure that looks like a
Geometry box 7

{A) Cone (B) Prism
(C) Cubgids (D) MNone of these
Which of the following shape

could you probably use to des-
cribe the shape of your eyeball ?

(A) Cube (B) Sphera
{C) Cylinder (D) Cone
Which of the following shape

could you probably use to des-
cribe the shape of a dice ?

{A) Cube

(B) Sphere

{C) Cylinder

(D) Rectangular prism

Write the following numbers in
words—

B o e an e s e .
{A) Nine hundred and sixty two

(B) Mine thousand and sixty two
{C) Ninety six and two

(D) Nine sixty two

Write the following numbers in
words—

BEEE: s ey SrEs ST :
{A) Fifty six hundred sixty nine

{(B) Five thousand six hundred
and sixty nine

(C) Fifty six thousand sixty nine

{D) Five thousand six hundred
sixty and nine
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Write the following numbers in
words—

BPBD o R :
(A) Eight lacs seven hundred
and eighty five

(B) Eighty seven lacs eighty five
(C) Eighty seven hundred eighty
five

(D} Eight thousand seven hun-
dred and eighty five

Perform the following long divi-
sion—

24672
3

(A) 8224 (B) 8221

(C) 8220 (D) 8229

Jeff has 5 peaches. Jeff ate 3 of
them. How many peaches does
Jeff have left ?

(A) 4 peaches (B) 3 peaches
(C) 2 peaches (D) & peaches

Sidd has 11 blocks. Tom has 10
blocks. How many blocks do they
have altogether ?

(A) 21 blocks (B} 20 blocks
(C) 22 blocks (D) 19 blocks

Paul has 11 blocks. He gives his
sister 9. How many blocks are
left ?

(A) 4blocks (B) 6blocks

(C) 3blocks (D) 2blocks

Som has ¥ pens. He buys 7 more

pens. How many pens does he
have in all 7

(A) 49 pens (B) 14 pens
(C) 1pen (D) 0 pen

A pencil costs is T 2. What is the
costs of 10 pencil 7

(A) T5 (B) T15

(C) ¥ 20 (D T 25

Lee has 5 books. Sidd has 3

books, How many books do they
have altogether ?

(A) 15 books (B) 3 books
(C) 2books (D) 8 books

6 boys went to the carnival. Each
boy rode the roller coaster 8
times, how many times did they
ride the roller coaster in all ?
(A) 4Btimes (B) 14times
(C) 84 times (D) 86 times
Each student has 8 markers. If
there are 12 students in class,

how many markers are there in
all ?

(A) 69 markers (B) 96 markers
(C) 46 markers (D) 36 markers
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lot. Each bus has 12 windows.
How many windows are there in
all 7

(A) 18 windows

(B) 76 windows

(C) 70 windows

(D) 72 windows

Jenny has 9 kittens. Each kitten
has 7 spots in their backs, how
many spots are there in all ?
(A) 58spots (B) 60 spots
(C) 63spots (D) 62 spots

Aman is 4 years elder to Zoya.
Ram is 5 years younger to Zova.
If Zoya's age is 32, find Aman's
and Ram's age.

{A) Aman's age-27 years and
Ram's age-36 years

(B) Aman's age-36 years and
Ham's age-27 years

(C) Aman's age-28 years and
Ram's age-32 years

(D) Aman's age-32 years and
Ham's age-25 years

There are 14 people standing in
line. Each person holds 2 books,
how many books are there in all ?

(A) 26 Books (B) 16 Books
(C) 28 Books (D) 12 Books

There are 8 cookies in a box.
How many cookies are in 5
boxes 7

(A) 13 cookies (B) 03 cookies
{C) 40 cookies (D) 15 cookies

Each kid has 8 tfoys. There are 8
kids, how many toys are there in
total 7

(A} 64 toys (B) 46 toys

(C) 16 toys (D) 68 toys

Jody goes to the mall 7 times a
month. Everytime Jody goes, she
buys 3 new shirts. How many
shirts does Jody have at the end
of each month ?

(A) 21 shirts (B) 18 shirts

(C) 20shirts (D) 19 shirts
There are 17 trees in the garden.
Each tree has 15 fruits, how
many fruits are there in all ?

(A) 254 fruits (B) 256 fruits
(C) 255 fruits (D) 32 fruits
John bought 8 apples out of
which he ate 2 and his sister ate
3. How many apples are left with
John ?

(A) 3 apples
(C) 5 apples

(B) 4 apples
(D) 6 apples
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Mine pens cost T 108. Find the
cost of three pens—

(A) ¥ 36 (B) T 105

(C) ¥ 3 (D) ¥ 40

Multiply 6 with 7 and add 50 to
the product. You get ......... ;

(A) 30 (B) 14

{C) B3 (D} 92

There were 25 trees in a park.12
trees were cut down and 7 trees
were planted. How many trees
are there in the park today ?
(A) 20trees (B) 32 trees
(C) 37trees (D) 17 trees

If Drek is elder to Sam by 8 years
and Sam’s age is 13, what is
Drek's age 7
(A) 18 years
(C) 19 years

(B) 20 years
(D) 21 years

Answers with Hinis

. (B) National Bank for Agriculture

and Rural Development
(NABARD) is an apex develop-
ment bank in India having head-
quarters based in Mumbai (Maha-
rashira) and other branches are
all over the country. It was esta-
blished on 12 July, 1982,

(A) Permanent Account Number
(PAN) is unique alphanumeric
combination issued to all juristic
to all juristic entities identifiable
under the Indian Income Tax Act
1961.

(D) 4.(A) 5.(A) 6. (B)

(A) Rice is a seed of monocot
plants Oryza sativa.

(A) Sugarcane (Saccharum offi-
cinarum L., family—Gramineag)
plant has seeds at maturity time
but does not have fruits. Sugar-
cane stem for plantation in cut
pieces is sowing for cultivation,
Indian Institute of Sugarcane
Research (lISR-ICAR) Lucknow
(U.P.) and Sugarcane Breeding
Institute, Coimbatore (T. MNacdu)
etc. are doing researches on
sugarcane breeding by GOL

(D)

(B) Peas/Pea plant (Pisum
sativum wvar. arvense say-field
pea and Pisum sativum var.
hortense; family—Leguminaceae
say; Table Pea) is a flower plant
and fix/absorb 20-25 kg N/ha
from free atmospheric N-78-2%
L.e., savingof 1 bag of 50 kg urea.
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